ADV

ea onveying pump
EREIETR




9. IE¥#EIR 9. Stop Ring




74

»

FomEEaME RN aE

Features:

Asserted benchmark displacement ( ml/r) :
4/6/8/10/12/16/20/25/32/40/50/63/80/
100/112/150/180/200

Adjusted numerical value of overflow valve:

16bar (according to the need to adopt higher pressures)
Seal material: fluorine rubber

Applied viscosity (cSt) : 12~20000

Applied scope:
Reduction box, wind power, lubrication system, filtration
system, gas stations, vacuum machinery, engine...

Attention:

e Fluid has basic lubricating and compatible chemical
characteristic, and it exclude solid impurity substance.

e Avoid idling

e The pump can only be operated in appointed direction,
or else seal of the shaft will be wrecked.

e To avoid excessive pressure, the sysrem or pump
should be equipped with a relief valve.

e Relief valve equipped with the pump functions as an
atmospheric valve in a short time, other than a
overflow valve.

e An additional overflow valve should be installed if
overflowing exists in a long time.

a1

o IRFRHEE (ml/r):4/6/8/10/12/16/20/25/
32/40/50/63/80/100/112/150/180/200

o REMBE(E : 16bar (TREBERAESESN )

o R BRI

o N A¥EE (cSt) :12~20000

RBIFETEE
o HIEH, o NAOKHE o HBRF o LRRL
o NNiYG o EHEHIM o RENHL

IR

o AR EBEARRIEEY , THESERRE .,
BHEHEEEE.

o BRI,

o RABELUREIEH T RIS | BNSBIRMIZEIY.

o NBBREEEN , RARRNLEL LR,

o RER FNRSMEREIMEER | AAiEREA.

o KA (Al T IR 37 AR «

» PEBYHER

Type Specicatons ol fotation bearng " | Sealtre p “reting. Matertl
B3] R} KR
e e e wEwE | | mORs || SORE T magm | RAHE
DK F (No front bearing) None (no overflow valve)
F (FTCRIEHF) IR (TR )
@G (Have front bearing) D-0~25 ( The factory
G (BrIgihx) set 15 bar pressure )
10 D-0~25 (EARE
bR H IR E 1 5bar)
12 G3/4"
16 G1"
20 B =
SAEl %> None A%
25 SAE 2" (GG250)
32 4-80HEE
SAE2 ¥2"
40 : QT
50 SAE 3" (GGG400)
80-200HkE
63
30 R (right)&
100 L (left)x —
RL (Reversible operation N_(Nitie rubber) T8
112 with directions of inlet and F (Fluorine rubber) S
tlet fixed, 32-80 emission B
125 areoptional) :
(FTE T A7 (Low temperature fluorine
150 é SO mm FL rnben st
180 RE (Reversing with directions FF (Double fluoro rubber) S5
of inlet and outlet changing)
200 RE @izt nsmam S (others...) ..

Direction of rotation hE#&7 ™

No relief valve With relief valve
Oil pump rotation Oil pump rotation Oil pump rofation o sy Oil pump rotation Oil pump rotation
direction iiteR direction iR direction iiER ™

o i Oil pump rotation
direction iRz direction ERiER RESSE direction i

Ol w B Oilourthilifl  Oflourthill Ol il Ol w T Ol our ity Olourtisfl Ol Bl
Reversible operation with directions. Reversing with directions of
of inlet and outlet fixed (RL) inlet and outlet changing (RE) Clockwise (R) Counterclockwise (L) Clockwise (R) Counterclockwise (L)
AEfTHE O A AERE (RL) AEATHE A7 MM (RE) ImEEHET (R) WETEHET (L) MBS £HEST (R) BREHEST (L)

75



76

»

WX R ASE (4 950rpm)

»

EERBASE] (#5i% 950rpm )

Pressure (bar) £/

Pump type | Parameter Pressure ( bar) E/J Displacement
RES 2% (cm®/rev)
2.0 4.0 6.0 8.0 10.0 15.0 20.0 25.0 2

I/min 3.80 3.70 3.70 3.60 3.50 3.40 3.20 3.00

DK4 NKW 0.05 0.06 0.07 0.08 0.09 0.13 0.16 0.20 4
Kw 0.25 0.25 0.25 0.25 0.25 0.25 0.25 0.37
I/min 5.80 5.70 5.60 5.50 5.40 5.10 4.90 4.70

DK6 NKW 0.06 0.07 0.09 0.12 0.14 0.19 0.25 0.30 6
KW 0.25 0.25 0.25 0.25 0.25 0.37 0.37 0.55
I/min 7.40 7.30 7.20 7.10 6.90 6.60 6.30 5.90

DK8 NKW 0.08 0.09 0.12 0.14 0.17 0.24 0.32 0.38 8
KW 0.25 0.25 0.25 0.25 0.25 0.37 0.55 0.55
I/min 9.20 9.00 8.90 8.70 8.60 8.20 7.70 7.30

DK10 NKW 0.09 0.10 0.14 0.17 0.21 0.29 0.38 0.47 10
Kw 0.25 0.25 0.25 0.25 0.37 0.37 0.55 0.75
I/min | 11.40 | 11.30 | 11.10 | 10.90 | 10.70 | 10.20 | 9.70 9.40

DK12 NKW 0.10 0.12 0.16 0.21 0.25 0.36 0.47 0.58 12
KW 0.25 0.25 0.25 0.37 0.37 0.55 0.75 0.75
I/min | 14.70 | 14.60 | 14.30 | 14.00 | 13.80 | 13.30 | 12.60 | 11.90

DK16 NKW 0.12 0.15 0.20 0.26 0.31 0.45 0.60 0.74 16
KW 0.25 0.25 0.37 0.37 0.55 0.55 0.75 1.10
I/min | 18.50 | 18.30 | 18.00 | 17.60 | 17.30 | 16.50 | 15.80 | 14.90

DK20 NKW 0.14 0.18 0.25 0.32 0.39 0.56 0.74 0.92 20
KW 0.25 0.25 0.37 0.55 0.55 0.75 1.10 1.50
I/min | 23.10 | 22.60 | 22.30 | 21.90 | 21.50 | 20.60 | 19.70 | 18.30

DK25 NKW 0.16 0.21 0.30 0.39 0.48 0.70 0.92 1.14 25
KW 0.25 0.37 0.55 0.55 0.75 1.10 1.50 1.50

Pump type | Parameter Displacement
RES 28 (cm’Irev)
2.0 4.0 6.0 8.0 10.0 15.0 20.0 25.0 HE
I/min | 29.00 | 29.00 | 28.00 | 28.00 | 27.00 | 26.00 | 25.00 | 23.00
DK32 NKW 0.27 0.30 0.40 0.50 0.60 0.90 1.20 1.50 32
KW 0.37 0.55 0.55 0.75 0.75 1.50 1.50 2.20
I/min | 37.00 | 36.00 | 36.00 | 35.00 | 34.00 | 33.00 | 31.00 | 29.00
DK40 NKW 0.28 0.40 0.50 0.60 0.80 1.10 1.50 1.80 40
KW 0.37 0.55 0.75 1.10 1.10 1.50 2.20 2.20
I/min | 46.00 | 45.00 | 44.00 | 43.00 | 43.00 | 41.00 | 38.00 | 36.00
DK50 NKW 0.40 0.50 0.60 0.80 1.00 1.40 1.90 2.30 50
KW 0.55 0.75 0.75 1.10 1.50 2.20 3.00 3.00
I/min | 58.00 | 57.00 | 56.00 | 55.00 | 54.00 | 51.00 | 48.00 | 45.00
DK63 NKW 0.50 0.60 0.80 1.00 1.20 1.80 2.40 2.90 63
KW 0.75 0.75 1.10 1.50 2.20 2.20 3.00 4.00
I/min 73.0 72.0 71.0 69.0 68.0 65.0 67.0 58.0
DK80 NKW 0.60 0.70 1.00 1.30 1.60 2.30 3.00 3.70 80
KW 0.75 1.10 1.50 1.50 2.20 3.00 4.00 5.50
I/min | 93.00 | 92.00 | 89.00 | 88.00 | 87.00 | 83.00 | 80.00 | 77.00
DK100 | NKW 0.60 0.90 1.30 1.80 2.30 3.20 3.90 4.40 100
Kw 0.75 1.10 1.50 2.20 3.00 4.00 5.50 5.50
I/min | 100.00 | 99.00 | 97.00 | 96.00 | 94.00 | 93.00 | 88.00 | 83.00
DK112 | NKW 0.80 1.00 1.60 2.20 2.80 3.50 4.50 5.00 112
KW 1.10 1.50 2.20 3.00 4.00 4.00 5.50 7.50
I/min | 118.00 | 113.00 | 108.00 | 102.00 | 97.00 | 93.00 | 88.00 | 84.00
DK125 | NKW 1.60 1.50 1.70 1.80 2.40 3.60 4.90 6.00 125
KW 2.20 2.20 2.20 2.20 3.00 4.00 5.50 7.50
I/min | 142.00 | 138.00 | 134.00 | 129.00 | 124.00 | 119.00 | 113.00 | 107.00
DK150 | NKW 2.10 2.20 2.30 2.50 3.10 4.40 5.80 7.20 150
KW 3.00 3.00 3.00 3.00 4.00 5.50 7.50 | 11.00
I/min | 171.00 | 167.00 | 163.00 | 157.00 | 151.00 | 145.00 | 140.00 | 133.00
DK180 | NKW 2.20 2.60 2.70 3.00 3.90 5.40 6.90 8.40 180
KW 3.00 4.00 4.00 4.00 5.50 7.50 | 11.00 | 11.00
I/min | 190.00 | 186.00 | 182.00 | 176.00 | 171.00 | 166.00 | 161.00 | 154.00
DK200 | NKW 2.90 3.00 3.10 3.50 4.40 6.00 7.70 9.30 200
KW 4.00 4.00 4.00 5.50 5.50 7.50 | 11.00 | 11.00

77



» ENERBEARSEL (555 1450rpm ) )» EXRIFASE] (#5iE 1450pm )

Pumptype | Parameter Pressure ( bar) E/J Displacement Pump type | Parameter Pressure (bar) £/ Displacement
RS B8 (cm’/rev) =RE P (cm'Irev)
2.0 4.0 6.0 8.0 10.0 15.0 20.0 25.0 HeE 2.0 4.0 6.0 8.0 10.0 15.0 20.0 25.0 He2
Vi 5.70 5.60 5.60 5.50 5.40 5.30 5.10 4.90 I/min 46.00 | 46.00 | 45.00 | 44.00 | 44.00 | 43.00 | 42.00 | 41.00
DK32 NKW 0.54 0.70 0.82 1.12 1.29 1.60 2.10 2.40 32
DK4 NKW 0.10 0.13 0.16 0.18 0.21 0.29 0.30 0.35 4
KW 0.75 1.10 1.10 1.50 1.50 2.20 3.00 4.00
KW 0.25 0.25 0.25 0.25 0.37 0.37 0.37 0.37 I/min 57.00 | 57.00 | 56.00 | 56.00 | 55.00 | 53.00 | 51.00 | 50.00

DK40 NKW 0.60 0.80 1.00 1.20 1.40 1.80 2.40 2.90 40
KW 0.75 1.10 1.50 1.50 2.20 2.20 3.00 4.00

I/min 9.00 8.90 8.80 8.70 8.60 8.30 8.00 7.80

DK N B ik Biils il 02 0L Ok et 6 I/min 72.00 71.70 71.50 71.00 69.00 67.00 65.00 63.00

KW 0.25 0.25 0.25 0.37 0.37 0.55 0.55 0.75 DK50 NKwW 0.70 0.94 1.23 1.47 1.74 2.20 2.80 3.50 50
KW 1.10 1.50 1.50 2.20 2.20 3.00 4.00 5.50

I/min 11.30 11.20 11.10 10.90 10.90 10.50 10.20 9.80

I/min 91.50 91.00 90.60 90.00 89.00 86.70 85.70 84.00

DK8 N | @8 || @0 || @20 | 0z || B8 | 04y | @Bt || 06 8 DK63 | NKW | 1.05 | 1.34 | 164 | 193 | 224 | 290 | 3.80 | 4.50 63
Kw 025 | 025 | 037 | 037 | 055 | 053 | 075 | 0.75 KW 150 | 220 | 220 | 3.00 | 3.00 | 4.00 | 550 | 5.50
Umin | 119.0 | 119.0 | 119.0 | 118.0 | 116.0 | 110.0 | 106.0 | 99.0
Umin | 14.20 | 14.10 | 14.00 | 13.80 | 13.60 | 13.20 | 12.80 | 12.40
DK80 | NKW | 1.20 | 1.50 | 1.87 | 230 | 260 | 3.40 | 430 | 5.20 80
DK10 | NKW | 0.8 | 0419 | 023 | 030 | 035 | 046 | 058 | 0.72 10 KW | 150 | 220 | 3.00 | 300 | 400 | 550 | 550 | 7.50

KW 0.25 0.25 0.25 0.37 0.55 0.55 0.75 1.10 I/min 142.00 | 141.00 | 138.00 | 137.00 | 136.00 | 132.00 | 129.00 | 126.00

DK100 | NKW | 120 | 1.70 | 220 | 270 | 320 | 440 | 570 | 6.90 100

Umin | 17.20 | 17.10 | 17.00 | 16.90 | 16.80 | 16.50 | 15.90 | 15.40 W 150 | 220 | 300 | 200 | 200 | 550 | 750 | 11.00

DK12 NKW | 020 | 021 | 028 | 032 | 039 | 055 | 072 | 0.89 12 I/min | 157.00 | 156.00 | 154.00 | 153.00 | 151.00 | 150.00 | 145.00 | 140.00
DK112 | NKW | 1.40 | 200 | 260 | 310 | 370 | 510 | 650 | 7.80 112

KW 025 | 025 | 037 | 055 | 055 | 075 | 1.0 | 1.10

KW 220 | 300 | 300 | 400 | 550 | 750 | 7.50 | 11.00

/min | 22.60 | 22.40 | 22.20 | 22.00 | 21.70 | 21.10 | 20.50 | 19.80 I/min | 182.00 | 178.00 | 174.00 | 170.00 | 167.00 | 160.00 | 154.00 | 149.00
DK16 NKW 0.24 0.31 0.38 0.45 0.57 0.82 1.02 1.33 16 DK125 NKW 2.40 2.50 2.60 3.20 3.80 5.40 7.40 9.30 125

KW 3.00 3.00 3.00 4.00 5.50 7.50 11.00 11.00

KW 0.37 0.37 0.55 0.55 0.75 1.10 1.10 1.50
I/min 223.00 | 219.00 | 215.00 | 211.00 | 208.00 | 199.00 | 191.00 | 183.00

I/min 29.77 28.90 28.03 27.40 27.10 26.40 25.60 24.70 DK150 NKW 3.30 3.30 3.50 3.80 4.70 6.70 8.90 11.00 150
KW 4.00 4.00 4.00 5.50 5.50 7.50 11.00 15.00

DK20 NKW 0.26 0.36 0.44 0.53 0.63 0.87 1.14 1.41 20

I/min 267.00 | 263.00 | 259.00 | 255.00 | 252.00 | 243.00 | 235.00 | 228.00

KW 0.37 0.55 0.55 0.75 1.10 1.10 1.50 2.20

DK180 NKW 3.90 4.00 4.10 4.70 5.90 8.20 10.60 12.80 180
I/min 36.50 36.20 35.70 35.20 34.60 33.20 32.40 31.00 KW 5.50 5.50 5.50 5.50 7.50 11.00 15.00 15.00
I/min 292.00 | 289.00 | 286.00 | 283.00 | 280.00 | 273.00 | 266.00 | 259.00
DK25 NKW 0.46 0.60 0.73 0.88 1.00 1.18 1.50 1.75 25
DK200 NKW 4.40 4.60 4.80 5.30 6.70 9.20 11.70 14.20 200

KW 0.55 0.75 1.10 1.10 1.50 1.50 2.20 2.20 KW 5.50 5.50 5.50 7.50 7.50 11.00 15.00 18.50




ADV

Gear-conveying pump
)) Installation sizes of the conveying pump BERTERT )) Installation sizes of the conveying pump HBiXREZERT
DK04~12 DKO04~12-D15 (With relief valve ) %21

00

-00 109.00 3.00— : 16.00 140.00 33.00—=
£10.0 00 0 ———54.00——|
T fL {=7.00 fL R
g/ | \®\ o — [ ] 3 @ | \®\ o L E
|/ —E T e | |/ | : |
S X}r I ﬁ — % g === X}r f Jx — %
5| | g 1 g sl - ) %
‘ 8 3 W ——4.00 } ! ] 8 W 4,00+ J
g - i T ~ - T
WMj 5 \T( FL16.00-1 '44@, g K‘\T t--16.00--]
25,00 L5500
—— 100.00 + g —
=—036.00— =—036.00—=
DK16~25 DK16~25-D15 (With relief valve ) % 21@
131.00 161.00
w0 500 L—33.00—= o 65,00 L—33.00—
o1p 0 77 600 900 o 91p.0 77 16,00 800 00
7@ %43\» %590 ] § 7@ R \<§9§ ‘o-““ ] :
4/ /—E ‘ 400+ 3 ’ | 1 ® ‘\ 400 =5
1y 2 s 2
= X/r — fﬂ — g E : 7[ 1 Xjr fﬁ —l s
R : g Ny 51 j}L L : T
{g = — T R )
1 \ _ 1 L
== — LI =zl |
e +—25.00— 100.00 e 25.00—

——p42.00— —042.00—



Gear-conveying pump

)) Installation sizes of the conveying pump HBiERTERT

)) Installation sizes of the conveying pump M@ERZERT

82

DK32~50-D15 ( With relief valve ) #%2i@

DK32~50
110.00- 173.00
1 0 84.00-
100. 13.00=n]
210. OW 7.00 —=—=7.00
= o M2 — -
% —a " [T 2
I S
g H /\}(ﬁ /’® 7@ 3 L
s Ao 1 =1 =
H U f S
g J A L — e
=h O o]
A “on = ! -
T \\ {} 1 |*~28.00-
ﬂé\ ; i |
: -—36.00~!
=—35.70—=
DK63~80
110.00 208.00 44.00~
100.00
100.00 13.00 -
#10.0 27.00 M2 —==7.00 -
- o® #20 ©,
RS NE =]
| /2 h}&(( ¢ .
H H g A= g
= 1_%
S D — ]
S 1 i s % ‘ S
g 2 s 8 2 i
N “OH 2 I
Z “ }_&, @ —=-4.00
it 36.00
128,00~
35,7+

12.00-
110.00 84.00
100.00 13.00+—=
810.1 .00 ——=-7.00
1 N ||
p /-l\ \Q fb\“%g ﬂiﬂtgg — 3
I 5
2 1/ /e o 4
D i ‘ g
»* 1 L L4 — =
| S S [
L L 8 g ? 4.00—~—
®\~ ‘ ‘/0 N ‘ \"Hf—l — | L2800
HRN ©
J—H:E— ‘ I
= =—36.00—
1 153.00
=—35.70—~
DK63~80-D15 ( With relief valve ) % 2@
110.00 247.00 44,00+
100.00 too00-— 1
910.0 27.00 M2 —=-7.00
0 %20 2
o L — @\0%'“ =
7/0 — Q L i iy < T
il u S o
S ~ B =
e o o b — B
g1 3 ~ g
[l Lo = i
= Lo g 2 =
=
o o — © E —-4.00
% 7 128,001
153.00 36.00
357+
83



Gear-conveying pump

)) Installation sizes of the conveying pump $iXREZERYT

)) Installation sizes of the conveying pump BWi:RTERT

84

DK63~80(SAE2")
110.00 208.00 44,00~
100.00 100'103000
0O 2700 @ Mz |00 | e
——= g 120 z
2 I S S 1
I §777=5\¢ & 34
= . = ‘ i T I = —/ 8
— o o
E ﬁl s st [ g
o \@\ /@ E = &~ S || l
7 « ‘ ~ —H=—4.00
_——— -r28.004-
-36.00
42,90
DK100~112
265
——102 —
- ~—=t-31.00 . ~—8.00
J‘(-oo o 43.00 50.00
4-M12%K20 T
B145 : 2
I - 1> o 1 fv Om — z §
s 8 / \ Tz
g J & Q & N_/ g |
o] o~ d
@ =
] O C‘ ]
—r=— 5.00
05100 40.00
130.00

DK63~80(SAE2")-D15 (With relief valve ) &£

110.00 247.00 44,00+
100.00
100.00 13.00-——~
#1000 7o || 9 we T
S o 20 o
P\ - 5
N> 79 | © P2
s ) = [ T = — 1 s
=4 338 : — =
: | o iy s :
~ =N
Q> //0 S ‘ ;
& =N & 4,00
e 128,004
153.00 [ a6.00
42,90
DK100~112 (With relief valve ) R £
265
102
~— 31.00 | soo
T
2, %
%0, o> 50.00
G145 Tg
E
T 1 — g
g3 ? 3
g § @ g
@ & o
N
Q
—r=—5.00
40.00

251.00

85



Gear-conveying pump

)) Installation sizes of the conveying pump HBERTERT

)) Installation sizes of the conveying pump M@ERZERT

86

DK125~200
261
-~ 130.00—~
8.00
62.00
4 M16¥ 50.00
|
* o | o 2
a
2 — S
8 2 4 PO
o =
g = v S
ﬁ x
i u_@: O @ ®
' 40.00
~— 076
DK32~50 (Bidirectional rotation) iz
256
‘ 216.00
000> 4 12001
©10.0G~—— [ T27.0 700
o 00
[ w@-" ! I .
’8 T i I e
T s /e o i
g | : ‘ = 8
T H g
l 3 400 8
| 8 |
28.00
! | 37.00
k69'97T4—M125§15 *
@© ['o]
8 o o °

DK125~200 ( With relief valve ) #% <@

300
=——130.00 —
=~ 31.00 8.00
) 62.00
“o, o> 4-M16332 50.00
|
9145 ? ©) oE
- - | o / (c—) g
~ 15 2 \ =
] ©@ s 8 o& 8
3 g = N g
3 | %
o O S
51 © T
40.00
150.00—
170 ~— Q76—
DK63~80 (Bidirectional rotation) e
291
44.00
[ 251
100.00 — 4 13.00——— ©
210.00——— —r27.00 ——="7.00 =
I o S
T 0 ! - ¥
S ://Lj L~ ®\i ! g4
gt o : D @ , =
S | 7@ N : : g
2 ‘ ) | S
[]I¥ / S | S
lif? ®‘\\ ‘,_/Q = § ] ‘
g @ @ j ——4.00
i 28.00
37.00
*GQ'STTAPMIZ;%IB
?A@
S ~ <> >
3 8
8 ~No e Z=!

87



Gear-conveying pump

)) Installation sizes of motor pump set BHEIEREARERYT )) Installation sizes of motor pump set BHEERARERYT
MDK4~25 MDK4~12
L1 Motor 6P 4P
W1 base L1 LT |L2|L2|L3|L4|L5| L6 |WT|W2|W3|H1|H2|H3|S E F

number (Boer [Speed | Power | Speed
B | (KW) | (/min) | (KW) | (r/min)
WEES | g | #F | hE | %

718 0.25 | 1390|405 | 436 | 109|140 | 80 |54 | 45| 90 (160|112 | 140|181 (71| 9 | 7 | G3/4"| $36
] 71 | 0.25| 920 | 0.37 | 1380 | 405|436 | 109|140| 80 |54 |45| 90 | 160 | 112|140 (181 | 71| 9 | 7 | G3/4"| $36
o o
%% 80S | 0.37 | 900 | 0.55 | 1370|459 |490 | 109|140 | 100 | 54 [ 50 | 100 | 200 | 125| 160 | 208 | 80 | 12 | 10 | G3/4" | $36
/V_ég_r\

H1

f
§ k f 80 |0.55| 900 | 0.75|1420 (459|490 |109| 140|100 |54 |50 | 100|200|125| 160|208 | 80 | 12 | 10| G3/4" | 36
t ;D ? 90S | 0.75| 960 | 1.1 (1420|494 (525 |109| 140|100 |54 |56 | 100 [ 200 | 140| 175|222 |90 | 13 | 10 | G3/4" | $36
3 S
4-"g7-7 - L »L S 90L | 1.1 | 950 | 1.5 [ 1450|520 | 551|109 | 140 | 100|54 | 56| 125|200 |140|175|222|90| 13 [ 10| G3/4"| $36
L5 Lo— 95.00 2
w2
W3 ——+
MDK4~25-D15 MDK16~25
LT Motor 6P 4P
w1 base L1 LT |L2|L2| L3 |L4|{L5| L6 [WI|W2|W3|HT|H2|H3|S| E F
L2' L3 — number oo er [ Speed | Power | Speed
EBHL | (KW) | (/min) | (KW) | (/min)
HUEES | ThER | f0E | D | BE

71 |0.25| 920 | 0.37 | 1380|427 | 458 | 131|162 | 80 [63|45| 90 | 160 (112|140 (181| 71 | 9 [ 7 | G1"| 42

1Tk 5 o 80S | 0.37 | 900 | 0.55[1370|481|512|131|162|100|63|50|100|200|125|160(208| 80 | 12|10 | G1"| »42
ﬁ% 80 | 0.55| 900 | 0.75|1420|481|512|131|162|100| 63|50 | 100|200 |125|160|208| 80 | 12 10| G1"| »42
gy : ;
NS 9
\

H1

o

90S | 0.75| 960 | 1.1 | 1420|516 | 547 | 131| 162|100 | 63|56 | 100 | 200 | 140 | 175(222| 90 [ 13 [ 10| G1"| »42

=—80.00 ——

—
L
|

90L | 1.1 | 950 | 1.5 (1450|543 (573 |131| 162|100 |63 [ 56 | 125 [ 200 | 140 (175|222 | 90 | 13 | 10| G1"| d42

14.20

100L1 2.2 [ 1440|605 |636|131| 162|124 |63 | 63| 140 | 250 | 160 [ 205 | 247 [ 100 | 12 | 12| G1"| d42

L5 L6— 100.00

H3

— 9500 100L2| 1.5 | 960 | 3 |1440|605|636|131| 162|124 |63 |63 | 140|250 160 | 205|247 |100| 12 | 12| G1"| d42




)) Installation sizes of motor pump set BHEIEREARERYT

Gear-conveying pump

)) Installation sizes of motor pump set BHEERARERYT

90

MDK32~80

L1

12 == 13—

M2__ |
20

W1

T =Nangitl =
é ((/ j7 IoP) ?
i = ] jas} %
L——L:;sm = M= | ¢
T s
LS L6—
MDK32~80-D15
L1
W1
® €]
r @L =
i)
S Y i
=

MDK32~50

Motor

number POWerez’peed Powerfpeed LT[ | L2 |12 | L3 [L4| L5 | L6 |W1|W2 W3 |H1|H2| H3 | S
ol | S || &

80S | 0.37 | 900 | 0.55 | 1370|532 571|172 | 211|110 |84 | 50 | 100 | 200|125 | 160|208 | 80 | 12 | 10
80 |0.55| 900 |0.75[1420| 532 | 571|172 211|110 |84 | 50 | 100 | 200|125 | 160|208 | 80 | 12 | 10
90S | 0.75| 960 | 1.1 | 1420|567 | 606 | 172 | 211| 110 |84 | 56 | 100 | 200|140 | 175|222 | 90 | 13 | 10
90L | 1.1 | 950 | 1.5 | 1450|593 | 632 | 172 211|110 |84 | 56 |125|200|140|175|222| 90 | 13 | 10
100LS 2.2 | 1440|646 | 685 | 172 | 211|124 |84 | 63 | 140 | 250 | 160 | 205 | 247 [ 100 | 12 | 12
100L | 1.5 | 960 | 3 |1440|646 | 685|172 | 211|124 |84 | 63 | 140|250 | 160 | 205|247 [ 100| 12 | 12
112M | 22 | 960 | 4 |1450|658 | 697 | 172|211 124 | 84| 70 | 140 | 250 | 190 | 222|281 | 112| 13 | 12
1328 | 3 | 960 | 5.5 | 1450|698 | 737 | 172|211| 144 | 84| 89 | 140 | 300 | 216 | 256 | 320 | 132 | 16.5| 12
132M1| 4 | 960 | 7.5 | 1460|736 | 775 | 172|211 144 | 84| 89 | 178|300 | 216 | 256 | 320 | 132 | 165 | 12
132M2| 55 | 960 761|780 172| 211|144 84 | 89 | 178|300 | 216 | 256 | 320 | 132[16.5| 12
160M | 7.5 | 970 | 11 | 1460|865 | 904 | 172 | 211|188 | 84 | 108 | 210 | 350 | 254 | 320 | 437 [ 160 | 20 | 14.5
MDK63~80

‘baes 6P 4P

number oo Tspeed [ Power [speea] L1 | LT | L2 [L2| L3 | L4 | L5 | L6 | W1 W2 |W3|H1|H2|H3| S
s | ve | R | b | GF

80S | 0.37 | 900 | 0.55 | 1370|568 | 607 | 208 | 247 | 110 | 100 | 50 | 100 [ 200|125 | 160|208 | 80 | 12 | 10
80 | 0.55| 900 | 0.75 1420|568 | 607 | 208 | 247 | 110 {100 | 50 | 100|200 125|160 |208 | 80 | 12 | 10
90S | 0.75| 960 | 1.1 | 1420|603 | 642|208 | 247 [ 110|100 | 56 | 100|200| 140|175 |222| 90 | 13 | 10
90L | 1.1 | 950 | 1.5 [1450| 629|668 (208|247 | 110|100 | 56 | 125|200 | 140| 175|222 90 | 13 | 10
100LS 2.2 | 1440|682 | 721 | 208 | 247 | 124|100 | 63 | 140 | 250 | 160 | 205 | 247 | 100| 12 | 12
100L | 1.5 | 960 | 3 |1440|682| 721|208 | 247 | 124|100 | 63 | 140|250 160 | 205 | 247 [100| 12 | 12
112M | 22 | 960 | 4 |1450|694 | 733| 208|247 | 124|100 | 70 | 140|250 | 190 | 222|281 112| 13 | 12
1325 | 3 | 960 | 5.5 | 1450 | 734|773 | 208|247 | 144|100 | 89 | 140|300 | 216 | 256 | 320 | 132 | 16.5| 12
132M1| 4 | 960 | 7.5 | 1460|772| 811|208 | 247 | 144|100 | 89 | 178 | 300|216 | 256|320 [ 132|16.5| 12
132M2| 55 | 960 797 | 836 | 208 | 247 | 144 | 100 | 89 | 178 | 300 | 216 | 256|320 | 132| 16.5| 12
160M | 7.5 | 970 | 11 |1460| 901|940 | 208 | 247 | 188 | 100 | 108 | 210|350 | 254 | 320 | 437 | 160 | 20 | 14.5

91



Gear-conveying pump

)) Bell-shaped cover coupling configuration $hEESEXMNERIE

Pump type Motor size Bell-shaped cover type Bell-shaped cover size  $hBERY Coupling type Coupling size  EXfgRT
L 718
?‘6}\ DGV160/ 80-063 -®85 *M8*4 160 80 63 85 M8 AG19/24. 14H7-14H7 14 14 25 16 25
T >
80S
AG19/24. 14H7-19H7 14 19 25 16 25
— — 80
\ DGV200/100-®63 -$85 *M8*4 200 100 63 85 M8
DK4-DK25 908
AG19/24. 14H7-24H7 14 24 25 16 25
90L
100LS
100L DGV250/124-®63 -$85 *M8*4 250 124 63 85 M8 AG24/32. 14H7-28H7 14 28 30 18 30
L 112M
80S
m AG19/24. 24HT7-19H7 24 | 19 | 25 | 16 | 25
80
DGV200/110-980 -®103*M8*4 200 110 80 103 M8
908
© AG19/24. 24H7-24H7 24 24 25 16 25
3 b 90L
= a
© 100LS
DK32-DK80 100L DGV250/124-980 -®103*M8*4 250 124 80 103 M8 AG24/32. 24H7-28H7 24 28 30 18 30
= 112M
1328
Bell-shaped cover DGV300/144-080 -®103*M8*4 300 144 80 103 M8 AG28/38. 24H7-38H7 24 38 35 20 35
Fidl 132M
PhELE
160M
DGV350/188-980 -®103*M8*4 350 188 80 103 M8 AG38/45. 24H7-42H7 24 42 45 24 45
160L
| 100
: T DGV250/148-®110-0145*M12*4 250 148 110 145 M12 AG24/32. 28H7-28H7(L=50) 28 28 30 18 50
112
~— T [ | o
[a] o
s s 1328
DGV300/168-®110-0145*M12*4 300 168 110 145 M12 AG28/38. 28H7-38H7(L=60) 28 38 35 20 60
132M
DK100-DK200
L L2 L3 160M
AG38/45. 28H7-42H7 28 42 45 24 45
Coupling 160L
N DGV350/204-®110-®145*M12*4 350 204 110 145 M12
EX3HES 180M
AG42/55. 28H7-48H7 28 48 50 26 50
180L




